H

Parts
D Screw
N Dimensions L Dimensions
Geometr Designation Geometr
y g 2 b ¢ d BT 4 y Designation 5 b c d BN &
FTNBO4LL | M4X07 10.8 57 15 60° T R 2 FHGAOG18 |M4X07 11 69 6 15
FTNC04509 | M45X075 9.5 68 20 55° J
. dI X al FTNCO4511 | MA5X0.75 115 68 20 55° @ GTT} ]
T b N bc
FINB0209 | 2X04 9 25 27 60° .
FTNBO29P | 2X04 9 28 27 o FHGA0618 | M6X10 18 85 4.0 610
FINBO5L2 | 25X045 12 35 35 60° T PXMA306 | MSX05 59 57 2 90
FINBO2512-P| 25X045 12 35 35 60° a dI ] Ja| |SHX0310 | M3Xo5 10 59 2 9r°
FINBO2514 | 25X045 14 35 35 60° L
FINBO2514-P| 25X045 14 35 35 60° Ll b
FINBO316 | 3X05 16 45 42 60°
b =" [FINBO316-P | 3X05 16 45 4.2 60°
RHA0510 | M5X08 10 40
FINBO319 | 3X05 19 5 45 60°
FINBO3522 | 35X06 22 56 55 60° RHAOGL3 | M6X10 163 13 105 4.0
FINB03524 | 35X06 24 56 55 60° dl & ab [RHA0G20 | M6XL0 24 20 105 4.0
FINB0426 | 4X07 26 6.7 55 60° e
FTNB0528 5X08 28 65 7 60° 5
KHA0508 | M5X08 8 25
Enﬁggig e 25 VHX05098 | M5X08 9 415 5 2
@3 aI i KHA0612 MEX10 12 3.0 VHX0512B | M5X08 12 65 5 2
E = KHA0B12 | MBX125 12 4.0 VHX0512BN | M5X08 12 656 5 2
KHA0815 | M8X125 15 4.0 VHX0514 | M5X08 145 825 5 2
KHAL015 | MI0X15 15 5.0 VHX0613N | M6X10 134 7.5 593 25
ﬁﬂéé%g m;(ol; 12702 45 25 5éo VHX0617 | MEX10 17 10 6 25
B_ 2 KHBO406 | MX07 6 42 3 2 x:iggg'\‘ mzxg 162-175 8514 56-9 25
@ e \{‘E}/ {3 E VHX08L7N | M8X10 17.05 7.98 79 3
e 5| . VHX0820N | M8X10 207 7.98 7.9 3
b b VHX0820AN | M8X10 205 1036 7.9 3
VHX082L | M8X10 21 10 8 3
M5 X 0. ) 5 90°
ﬁ:gggig M§§2§ 18 3; gg gg VHX082IN | M8X10 212 968 7.9 3
KHC0812 M8X12% 12 9 40 90° VHX0823N | M8X10 235 103 7.9 3
KHC1016 | MI0XL5 16 12.3 50 90° VHX0825 | M8X10 25 12 8 3
KHC1020 | M10X15 20 163 50 90° VHX1027N | M10X10 27.2 144 98 5
VHX1236N | M12X10 36 183 11.8 5
KHD0510 | M5X08 10 9 3 25
KHDO610 | M6X10 10 10 4 3
KHDO8L0 | M8X125 10 10 75 4
- ~|vHX0613A | M6X10 134 91 60 25
768) =
® TP
LTX0512 | M5X08 151 12 7.3 20 s —i—‘b
LTX0514 | M5X08 17.1 14 73 20
SHXNOS09F | M5X05 M35X06 8.65 6.3 3.5
SHXNOGOOF | M6X0.75 MX07 9 7.8 4
SHXNOGLOF | M6X075 M4X05 10 7.8 4
MHAQ512 | M5X08 17.0 108 8.0 4.0 B c SHXNO712F | M7X075 M5X08 12 85 5
MHBO310 | M3X05 134 80 55 25
MHBO410 | M4X07 140 80 7.0 3.0
WTX0813 | M8X125 172 49 85 25
MHB1055 | MI0X15 65 50 16 8 —
MHB1260 M2X175 72 55 18 10 d—f;, ai WTX0817 MBX125 22 49 85 25
MHB1680 | MI6X20 96 75 24 14 a . <] —
MHX0523 | M5X08 235 9.7 10 25 b
MHX0626 | M6X10 258 10 11 3
MHX0630 | M6X10 30 125 105 4
D Shim pin
PTKA02508 | M25X045 8 5 38 8 92°
PTKA03510 | M35X06 10 5 5 15 92° . . Dimensions
PTKAO07 | MAXO7 7 46 55 15 86° SO Designation b c d
PTKAO4O7F | M4X05 7.3 38 65 15 91° 55
PTKA0408 | M4X07 8 56 55 15 86° SP3 : 35 59
PTKAO408F | M4X05 83 57 65 15 91° SP3N 685 33 5.55
T PTKAO409F | M4X05 9.3 6.7 65 15 91° SP4 70 40 76
/o PTKAO410F | M4X05 103 7.7 65 15 91° CT\ | bi m SP4N 58 435 7.4
7 |PTKAO4LIF | M4X05 113 87 65 15 O1° ‘ ‘ T Sp5 85 45 88
- |[PTKA04L2 | M4X07 12 75 59 15 92° a SPEN 65 568 9
c PTKAO412F | M4X05 123 9.7 65 15 91I° : :
b PTKAO413F | M4X05 13.3 10.7 65 15 91I° SPEN ni 60 11.0
PTKAO512 | M5X08 12 7 69 20 92° SP8N 120 100 15.35
PTMA03508| M35X06 8 53 6 9 90° SP2M 5 14 M5X08 6
PTMAGIOIE  WixTs o8 77 o5 1t o1 © EEEHE{EE o (M 58 18 wexer
. 3 . X ° a lc
PTMAQ405F | M4X0.5 53 3.7 65 15 91° SP3W-1 35 165  M4XO07 4
PTMAO406F| M4X05 6.3 47 65 15 91° b SPAM 5 19 M5X08 6
PTMAO4LL |M4X07 11 85 66 15 90°






